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Set-Z - Hindi

1. An example for individual test of intelligence 

1. Army Alpha Test 

2. General Mental Ability Test 

3. Ravan's Progressive Matrices 

4. Bhatia Intelligence Test 

 
2. Following is known as 'organ of fight or flight' 

1. Para thyroid gland 

2. Adrenal gland 

3. Pituitary gland 

4. Thyroid gland 
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3. Sridhar wants to play with a puppy dog, but he scared that it may 

bite him. The conflict of Sridhar is, 

1. Approach – Approach conflict 

2. Approach – Avoidance conflict 

3. Avoidance – Avoidance conflict 

4. Dual approach – Avoidance conflict 

4. According to Erickson the Psycho Social critical situation  

"intimacy vs isolation" will be seen in this stage 

1. Adolescence  

2. Early adulthood 

3. Middle adulthood 

4. Infancy  

vs
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5. Rajesh got angry on the teacher who punished him without any 

reason. Rajesh shown that anger on his younger sister. The defence 

mechanism here is, 

1. Repression  

2. Projection  

3. Displacement  

4. Compensation  

 

6. "Universal Language faculty is present in every individual". This is 

stated by, 

1. Chomsky 

2. Pavlov 

3. Erickson 

4. Bruner  
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7. Kohlberg referred this stage as 'morality of self accepted principle" 

1. Pre-conventional morality 

2. Conventional morality 

3. Post conventional morality  

4. Good boy morality 

 
8. According to Piaget this is not a limitation of pre operational stage 

1. Animism  

2. Concept of irreversibility  

3. Conservation of concepts 

4. Object permanence 



5 
 

9. A teacher conducted an experiment on 'the impact of newspapers on 

the attitude of students'. Here attitude of students refers to, 

1. Independent variable 

2. Dependent variable 

3. Intervening variable 

4. Group variable 

 
10. Hereditarian among the following is 

1. Long field 

2. Watson  

3. Wood worth 

4. Gregor Mendel  
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11. Following is not in the sub tests of Differential Aptitude Test 

1. Verbal reasoning  

2. Object assembly  

3. Spatial relations 

4. Abstract reasoning  

DAT

 
12. Gayatri is having defective mental development and this is 

influencing her language development. The developmental principle 

indicating this is, 

1. Principle of interaction 

2. Principle of interrelation 

3. Principle of continuity  

4. Principle of predictability  
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13. Satish learnt a list of meaningless words in 25 attempts. After one 

month he was asked to relearn the same list. This time he took 10 

attempts to learn. His savings score is, 

 

 

1. 25% 

2. 30% 

3. 40% 

4. 60%  
 
14. The theory proposed by Maslov is 

1. Theory of hierarchy of needs 

2. Social learning theory 

3. Two factor theory 

4. Multi factor theory 
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15. Following is related to Cognitive domain 

1. Receiving  

2. Evaluation  

3. Imitation  

4. Responding  

16. A person, who is scared of white cat, also fears to see white objects. 

According to Pavlov, this is, 

1. Stimulus discrimination  

2. Stimulus generalization  

3. Higher order conditioning  

4. Extinction  
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17. According to Vygotsky one of the following is a higher mental order 

function 

1. Discrimination 

2. Questioning  

3. Comparing  

4. Observing  

 
18. The first step in learning by imitation,  

1. Retention  

2. Reinforcement  

3. Attention  

4. Performance  
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19. The type of transfer of learning of a person, who learnt type writing 

wants to learn cricket is, 

1. Positive  

2. Negative  

3. Zero  

4. Bilateral  

 
20. Dyslexia is a 

1. Reading disability 

2. Writing disability 

3. Mathematical disability 

4. Attention deviation disorder 
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21. 92 students are studying in a primary school. According to  

RTE Act 2009. The number of teachers required in this school is, 

1. Two  

2. Three 

3. Four  

4. Five  

RTE  2009 

22. This is known as client centered counselling  

1. Directive counselling  

2. Non-directive counselling 

3. Eclectic counselling  

4. Group counselling 
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23. In a participatory leadership…,  

1. Decisions are taken through mutual discussions 

2. There is no scope for questioning the orders given by the 

leader 

3. Leader will play the role of spectator  

4. There will be no relationship between leader and members 

 
24. The Psychologist who suggested 'Enacting method, iconic method 

and symbolic method' in instructional order is, 

1. Vygotsky 

2. Bruner 

3. Piaget 

4. Thorndike  
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25. The Third step in project method is, 

1. Providing situation  

2. Selection of project 

3. Execution  

4. Planning  

 
26. Among child rights, ‘Right to Information’ comes under 

1. Right to development  

2. Survival right 

3. Right to participate 

4. Protection rights 
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27. The mental age of 5 years old Mahesh is 6 years. Then his 

intelligence quotient is, 

 5 6

 

1. 100 

2. 110 

3. 120 

4. 140 

28. While preparing for examinations, Ramya first learnt Mathematics, 

then learnt Physics, while writing Mathematics examination, she is 

able to recollect only Physics. This is due to  

1. Proactive inhibition 

2. Retroactive inhibition  

3. Repression  

4. Generalisation  
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29. Thinking, Attention, problem solving comes under  

1. Emotional development  

2. Physical development  

3. Moral development 

4. Mental development  

 
30. As per NCF 2005, Fine Arts subject should be included 

1. In every stage in school education 

2. At primary level only 

3. At high school level only 

4. At pre-primary level only 

NCF 2005 
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Hindi Paper-II SET – 5 

31 32 

31.

1.

2.

3.

4.

32

1.

2.

3.

4.
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33 34

24 1914

1943 

33.

1.

2.

3.

4.

 
34.

1.

2.

3.

4.
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35.

1. 1%

2. 0.007 %

3. 0.009 %

4. 2 % 

36

1.

2.

3.

4.

37

1.

2.

3.

4.
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38

1.

2.

3.

4.

39

1.

2.

3.

4.

40

1.

2.

3.

4.
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41

1.

2.

3.

4.

42

1.

2.

3.

4.

43

1.

2.

3.

4.
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44

1.

2.

3.

4.

45

 1.

2.

3.

4.

46

1.

2.

3.

4.
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47

1.

2.

3.

4.

48

1.

2.

3.

4.

49

 1.

2.

3.

4.
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50

1.

2.

3.

4.

51

1.

2.

3.

4.

52

1.

2.

3.

4.
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53

1.

2.

3.

4.

54

1.

2.

3.

4.

55 1948 

1.

2.

3.

4.
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56

1.

2.

3.

4.

57

1.

2.

3.

4.

58

1.

2.

3.

4.

59
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1.

2.

3.

4.

60

1.

2.

3.

4.
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English –  Paper – III- Set - 2

 

61. No sooner had the relief team visited their family than they bitterly 
cried. 

 The underlined word is: 

1. a co-ordinate conjunction 

2. an adverb 

3. a subordinate conjunction  

4. a main clause 

 

62. She sang a song. 

 Choose the correct auxiliary verb to frame an Yes /No   question. 

1. Is  

2. Did  

3. Do  

4. Does  

 

63. The shops were closed because it was a holiday. 

 The underlined clause in the above sentence is: 

1. Subordinate clause 

2. Main clause  

3. Noun clause 

4. Adjectival clause 
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64. I have corrected all your homework. 

 The corresponding noun form for the underlined word 'corrected' is: 

1. corrects 

2. correcting 

3. correction 

4. correct 

 

65. Choose the suitable verb that corresponds to the noun. 

1. worry - worriedly 

2. satisfaction - satisfactory 

3. delight - delighted 

4. surprise - surprisingly 

 

66. I understand your problems; ………., I can't help you. 

 Choose the correct linker to complete the sentence. 

1. if 

2. although 

3. likewise 

4. so that 

 

67. Raman passed away on November 21, 1970. 

 The underlined word means: 

1. was killed 

2. removed 

3. left 

4. died 
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68. Choose the correctly spelt word. 

1. Accuasation  

2. Acuastion  

3. Accuzation  

4. Accusation 

 

69. Identify the sentence that is in superlative degree. 

1. It is greater than any other battle of my life. 

2. It is the greatest battle of my life. 

3. It has been a great battle of my life. 

4. No other battle of my life is so great as this. 

 

70. Rohan dances amazingly, ………….. ? 

 Choose the right question tag to complete the sentence: 

1. did he ? 

2. isn't he ? 

3. doesn't he ? 

4. don't he ? 

 

71. The antonym of the word, 'brave' is : 

1. foolish 

2. timid 

3. humble 

4. clever 
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72. Identify the meaning of the word 'precocious'. 

1. dull 

2. quarrelsome 

3. intelligent 

4. daft 

 

73. The sentence in the passive voice among the following is : 

1. I shifted to the last row. 

2. I was asked to go and sit on the back bench. 

3. I inherited faith in goodness. 

4. I was in the fifth standard at the Rameshwaram Elementary 

School. 

 

74. The most important part of the letter is: 

1. Address of the sender 

2. The text or the body of the letter 

3. Salutation  

4. Subscription  

 

75. Death lurked four inches away. 

 The underlined word, 'death' is: 

1. a common noun 

2. a material noun 

3. an abstract noun 

4. a proper noun 
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76. NHK Radio said to Wangari Maathai, "How is peace connected to a 
good environment?" 

 The correct reported speech for the above sentence is: 

1. NHK Radio told Wangari Maathai how was peace connected 

to a good environment. 

2. NHK Radio asked Wangari Maathai how peace was 

connected to a good environment. 

3. NHK Radio asked that Wangari Maathai how peace was 

connected to a good environment.  

4. NHK Radio said that Wangari Maathai how peace was 

connected to a good environment. 

 

77. Choose the sentence that doesn't have a conjunction. 

1. Murali is quite rich, yet he is unhappy. 

2. He is neither intelligent nor hard working. 

3. John says that he knows everything. 

4. He works as a teacher in a school. 

 

78. Choose the verb form that can be used in simple present tense. 

1. talked 

2. to taking 

3. talks 

4. taking 

 

 

 

 



32 
 

79. India is ………. SAARC country. 

 Choose the correct article to fill in the blank. 

1. a 

2. an 

3. the 

4. No article is needed. 

 

80. In an accident, the father died ……… the spot. 

 Choose the correct preposition to fill in the blank. 

1. in 

2. on 

3. with 

4. by 

 

81. The correct sentence among the following four is: 

1. Do you think he hasn’t paid it ? 

2. Have you get the receipt for the premium ? 

3. He was very fond for Jimmy. 

4. Mother and I am going to bring grandfather's bureau down 

here. 
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Read the following passage and choose the correct answer to the 
questions [82-84] that follow. 

Americans use archaisms such as the preservation of 'gotten' as the 
past participle of 'get', fall for autumn, 'aim to' for the English 'aim 
at' and faucet for tap. Solicitor in America means a canvasser or a 
visiting agent or a beggar and the word clerk indicates a shop 
assistant, usually a woman. 

 

82. The passage is about  

1. The archaisms used in the world 

2. The archaisms used in India 

3. The archaisms used in America 

4. The syntactical differences between American and British 

English 

 

83. The word 'Solicitor' in America means 

1. a beggar 

2. a shop assistant 

3. a shop owner 

4. a worker 

 

84. Clerk is usually 

1. woman 

2. man 

3. owner 

4. consumer 
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85. In the post independent era, to solve the conflict of language 
education, CABE proposed a language formula in 1956.  Identify it 

1. Hindi as official language 

2. Three language formula 

3. English as official language  

4. Official and mother tongue formula 

 

86. The poet who chronicled the history of England was: 

1. John Milton 

2. Robert Browning 

3. William Caxton  

4. Shakespeare 

 

87. The number of phonemes in English are 

1. 26 

2. 44 

3. 12 

4. 20 

 

88. Along with 'translation' what is the predominant feature of 
'Translation method ? 

1. Comprehension  

2. Comparison 

3. Grammar  

4. Explanation  
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89. Vocabulary in a good textbook should be, 

 

1. selected and graded 

2. simple and easy 

3. casual and friendly 

4. difficult and useful 

 

90. The syllabus which organizes a few items of grammar, which are 
helpful in performing a language function is called: 

1. grammatical syllabus 

2. situational syllabus 

3. functional syllabus 

4. notional syllabus 
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Hindi Paper-III SET – 2 

 
91. 

1.

2.

3.

4.

92.

1.

2.

3.

4.

93.

1.

2.

3.

4.
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94.

1.

2.

3.

4.

95

1.

2.

3.

4.

96

1.

2.

3.

4.
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97

1.

2.

3.

4.

98

1.

2.

3.

4.

99

1.

2.

3.

4.
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100

1.

2.

3.

4.

101

1.

2.

3.

4.

102

1.

2.

3.

4.
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103

1.

2.

3.

4.

104

1.

2.

3.

4.

105

1.

2.

3.

4.
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106

1.

2.

3.

4.

107

1.

2.

3.

4.

108

1.

2.

3.

4.



42 
 

109

1.

2.

3.

4.

110

1.

2.

3.

4.

111

1.

2.

3.

4.
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112

1.

2.

3.

4.

113

1.

2.

3.

4.

 
114

1.

2.

3.

4.

 

 

 

 

 



44 
 

115

1.

2.

3.

4.

116

1.

2.

3.

4.

117

1.

2.

3.

4.
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118

1.

2.

3.

4.

119

1.

2.

3.

4.

120 They are living here since the day before yesterday. 

1.

2.

3.

4.
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121

1.

2.

3.

4.

122

1.

2.

3.

4.

 
123

1.

2.

3.

4.
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124

1.

2.

3.

4.

 
125

1.

2.

3.

4.

 
126

1.

2.

3.

4.
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127

1.

2.

3.

4.

128

128

1.

2.

3.

4.

129

 

129

1.

2.

3.

4.
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130

 

130

1.

2.

3.

4.

131

131

1.

2.

3.

4.

132

1.

2.

3.

4.
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133

1. 15  

2. 14  

3. 26  

4. 14  

134

1.

2.

3.

4.

135

1. 15  2010

2. 15  2010

3. 15  2010

4. 15  2010
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136

1.

2.

3.

4.

137

1.

2.

3.

4.

138

1.

2.

3.

4.
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139

1.

2.

3.

4.

140

1.

2.

3.

4.

141

1.

2.

3.

4.
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142

1.

2.

3.

4.

143

1.

2.

3.

4.

144

1.

2.

3.

4.
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145

1.

2.

3.

4.

146

1.

2.

3.

4.

147

1.

2.

3.

4.
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148

1.

2.

3.

4.

149

1.

2.

3.

4.

150

1.

2.

3.

4.


